

COMPOSITIO MATHEMATICA

FU CHENG HSIANG

**On the Fourier coefficients of a simple
discontinuous function**

Compositio Mathematica, tome 18, n° 1-2 (1967), p. 61-64

<http://www.numdam.org/item?id=CM_1967__18_1-2_61_0>

© Foundation Compositio Mathematica, 1967, tous droits réservés.

L'accès aux archives de la revue « Compositio Mathematica » (<http://http://www.compositio.nl/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/legal.php>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques

<http://www.numdam.org/>

On the Fourier coefficients of a simple discontinuous function

by

Fu Cheng Hsiang

1

Let $f(x)$ be a function integrable in the sense of Lebesgue over the interval $(-\pi, \pi)$ and defined outside this by periodicity. Let its Fourier series be

$$\frac{1}{2}a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) \equiv \sum A_n(x).$$

Then

$$\sum_{n=1}^{\infty} (b_n \cos nx - a_n \sin nx) \equiv \sum B_n(x)$$

is the conjugate series of the Fourier series of $f(x)$.

For a fixed x , we write

$$\psi(t) = \psi_x(t) = f(x+t) - f(x-t) - l.$$

2

Let $\sum_{n=1}^{\infty} a_n$ be an infinite series with the partial sums $\{s_n\}$. Let σ_n be the first arithmetical means of s_n , that is, $\sigma_n = (\sum_{\nu=1}^n s_\nu)/n$. Let $A : (a_{n,m})$ ($m = 1, 2, \dots; n \leq m$) be a regular triangular matrix. If

$$\lim_{m \rightarrow \infty} \sum_{n=1}^m a_{n,m} \sigma_n = \tau,$$

then we say that the series $\sum a_n$ or the sequence $\{s_n\}$ is summable A. (C, 1) to the sum τ .

3

In this note, we prove a theorem for the A method of summation of the Fourier coefficients of $f(t)$ connected with its jump at the point $t = x$.

THEOREM. Let the jump of $f(t)$ at $t = x$ be l , i.e.,

$$f(x+0) - f(x-0) = l.$$

If A satisfies

$$(i) \quad \sum_{n=1}^m n |a_{n,m} - a_{n+1,m}| = o(1) \quad [2],$$

and

$$(ii) \quad \sum_{n=1}^m |a_{n,m}| = o(1)$$

as $m \rightarrow \infty$, then the sequence

$$\{nB_n(x)\} \equiv \{n(b_n \cos nx - a_n \sin nx)\}$$

is summable $A. (C, 1)$ to l/π .

4

If we denote by σ_n the $(C, 1)$ -transformation of $\{nB_n(x)\}$, we have, after Mohanty-Nanda [1],

$$\sigma_n - \frac{l}{\pi} = \frac{1}{\pi} \int_0^1 \psi(t) \left\{ \frac{\sin nt}{nt^2} - \frac{\cos nt}{t} \right\} dt + o(1),$$

by Riemann-Lebesgue's theorem.

On account of the regularity of the A method, we need establish that

$$I = \frac{1}{\pi} \sum_{n=1}^m a_{n,m} \int_0^1 \psi(t) g_n(t) dt = o(1)$$

as $m \rightarrow \infty$, where

$$g_n(t) = \frac{\sin nt}{nt^2} - \frac{\cos nt}{t},$$

which is $O(n^2t)$ by expanding $\sin nt$ and $\cos nt$ into the power series of n and t . It is known that [3, p. 5]

$$\sum_{\nu=1}^n \frac{\sin \nu t}{\nu} = O(1).$$

Thus, if we write

$$\begin{aligned} I &= \frac{1}{\pi} \sum_{n=1}^m a_{n,m} \left\{ \int_0^{n^{-1}} + \int_{n^{-1}}^1 \right\} \psi(t) g_n(t) dt \\ &= \frac{1}{\pi} \sum_{n=1}^m a_{n,m} \{P + Q\}, \end{aligned}$$

say, then,

$$\begin{aligned}
 |P| &\leq \left(\sum_{n=1}^m |a_{n,m}| \right) \int_0^{n^{-1}} |\psi(t)| |g_n(t)| dt \\
 &= o(1) \cdot O\left(n^2 \int_0^{n^{-1}} t dt \right) \\
 &= o\left(n^2 \int_0^{n^{-1}} t dt \right) \\
 &= o(1).
 \end{aligned}$$

We denote

$$\begin{aligned}
 G_\nu(t) &= g_1(t) + g_2(t) + \dots + g_\nu(t) \\
 &= \frac{1}{t^2} \sum_{\mu=1}^\nu \frac{\sin \mu t}{\mu} - \frac{1}{t} \sum_{\mu=1}^\nu \cos \mu t \\
 &= O\left(\frac{1}{t^2}\right) - \frac{1}{t} D_\nu(t) \\
 &= O\left(\frac{1}{t^2}\right),
 \end{aligned}$$

where $D_\nu(t)$ is the Dirichlet kernel of the Fourier series of $f(t)$. It is known that [3, p. 49] $D_\nu(t) = O(t^{-1})$.

By considering that

$$\sum_{n=1}^m |a_{n,m}| = \sum_{n=1}^{m-1} n(|a_{n,m}| - |a_{n+1,m}|) + m|a_{m,m}|$$

and

$$\left| \sum_{n=1}^{m-1} n(|a_{n,m}| - |a_{n+1,m}|) \right| \leq \sum_{n=1}^m |a_{n,m} - a_{n+1,m}|,$$

we see that the conditions (i) and (ii) imply that $ma_{m,m} = o(1)$ as $m \rightarrow \infty$. So that, we write

$$\begin{aligned}
 \left| \frac{1}{\pi} \sum_{n=1}^m a_{n,m} Q \right| &= \left| \frac{1}{\pi} \sum_{n=1}^m a_{n,m} \int_{n^{-1}}^1 \psi(t) \{G_n(t) - G_{n-1}(t)\} dt \right| \\
 &\leq \left| \frac{1}{\pi} \sum_{n=1}^{m-1} (a_{n,m} - a_{n+1,m}) \int_{n^{-1}}^1 \psi(t) G_n(t) dt \right| \\
 &\quad + \left| \frac{1}{\pi} \sum_{n=2}^m a_{n,m} \int_{n^{-1}}^{(n-1)^{-1}} \psi(t) G_{n-1}(t) dt \right| + o(1) \\
 &= J_1 + J_2 + o(1),
 \end{aligned}$$

say, by Abel's transformation. Now,

$$\begin{aligned} J_1 &= O \left\{ \sum_{n=1}^{m-1} |a_{n,m} - a_{n+1,m}| \int_{n^{-1}}^1 \frac{dt}{t^2} \right\} \\ &= O \left\{ \sum_{n=1}^m n |a_{n,m} - a_{n+1,m}| \right\} \\ &= o(1) \end{aligned}$$

by the condition (i). And,

$$\begin{aligned} J_2 &= O \left\{ \sum_{n=2}^m |a_{n,m}| \int_{n^{-1}}^{(n-1)^{-1}} \frac{dt}{t^2} \right\} \\ &= O \left\{ \sum_{n=1}^m |a_{n,m}| \right\} \\ &= o(1) \end{aligned}$$

as $m \rightarrow \infty$ by the condition (ii) of the theorem.

The theorem is thus completely proved.

REFERENCES

MOHANTY R. and NANDA, M.

- [1] On the behaviour of Fourier coefficients, Proc. American Math. Soc., 5 (1954), 79—84.

PETERSEN, G. M.

- [2] Summability of a class of Fourier series, Proc. American Math. Soc., 11 (1960), 994—998.

ZYGMUND, A.

- [3] Trigonometric series I, Cambridge, 1959.

(Oblatum 24-8-1966)

National Taiwan University
Taipei, Formosa, China